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Math 317 Q1 Winter 2017 Quiz 4

Mar. 10, 2017, 25 minutes

� The quiz has 3 problems. Total 10 + 1 points.

Question 1. (5 pts) Find all x2R such that
P

n=1
1 enx

n2
is convergent. Justify

your claim.



Question 2. (5 pts) Let an; bn > 0 and assume
P

n=0
1 an;

P
n=0
1 bn are

convergent. Prove that
P

n=0
1 cn is convergent where cn= an bn.



Question 3. (1 bonus pt) Let an > 0 and assume
P

n=0
1 an;

P
n=0
1 bn are

convergent. Prove that
P

n=0
1 cn is convergent where cn= an bn.




	Math 317 Q1 Winter 2017 Quiz 4

